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Determine  the  value  of  all  reactions 

forces in the next structure by the PTV.  

 

1) Calculation of 	 ஼ܸ  

 

෍ߜ ௩ܹ௜௥௧ ൌ෍ݒߜܨ௜ ൅ ߜܯ ߮௜ ൌ 0 

8. ଵݒߜ െ ஼ܸݒߜଶ ൅ ଷݒߜ6 ൌ 0 

ଵݒߜ ൌ 	߮ߜ

ଶݒߜ ൌ 2. 	߮ߜ

ଷݒߜ ൌ 3. 	߮ߜ

8. ߮ߜ െ ஼ܸ. 2. ߮ߜ ൅ 6.3. ߮ߜ ൌ 0	

࡯ࢂ ൌ ૚૜	ࡺ࢑	

2) Calculation of 		 ஺ܸ 

 

෍ߜ ௩ܹ௜௥௧ ൌ෍ݒߜܨ௜ ൅ ߜܯ ߮௜ ൌ 0 

஺ܸ. ଵݒߜ െ 8. ଶݒߜ ൅ ଷݒߜ6 ൌ 0 

ଵݒߜ ൌ 2.  ߮ߜ

ଶݒߜ ൌ  ߮ߜ

ଷݒߜ ൌ  ߮ߜ

஺ܸ. ߮ߜ2 െ 8. ߮ߜ ൅ 6. ߮ߜ ൌ 0 

࡭ࢂ ൌ ૚	ࡺ࢑ 

3) Calculation of 		 ாܸ  

 

 

෍ߜ ௩ܹ௜௥௧ ൌ෍ݒߜܨ௜ ൅ ߜܯ ߮௜ ൌ 0 

ாܸ . ாݒߜ ൌ 0 

ࡱࢂ ൌ ૙	ࡺ࢑ 

Now we are going check these results with 

the three scalar equations of equilibrium: 

෍ܯ஽ ൌ 0 → ࢋࢂ ൌ ૙  ࡺ࢑	

෍ܯ௔ ൌ 0 → 2 ௖ܸ െ 6.3 െ 8.1 ൌ 0 

ࢉࢂ ൌ ૚૜	ࡺ࢑ 

෍ܨ௬ ൌ 0 → ௔ܸ ൌ 8 ൅ 6 െ 13 ൌ 1 

ࢇࢂ ൌ ૚	ࡺ࢑ 

Both results are equal. Reactions forces are 

well calculated 
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